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3 (Sem-3/CBCS) CHE SE
2021
(Held in 2022)
CHEMISTRY
(Skill Enhancement Course )
OPTION-A
Paper : CHE-SE-3034
(Basic Analytical Chemistry)
Full Marks : 50

Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
Answer the following questions : (any four)
1x4=4
e A Ues fial ¢ (Rieercar sif¥br)

(@) What is algal blooming ?
agioe e & 2

Contd.



(b) Name the disease caused by excess
fluoride in drinking water.

AT SIS M@fEs F93es Teoifefen st
QR @ISRy | & |

() What is bio-preservation ?
& AT e

(d) What is gradient method of elution ?
T (@AfewrS e & 2

(e) What is the role of emulsifiers used in
cosmetic formulation ?

SN AN LFCPITS SR Gl
e

(/) What is Dowex A-1 ?
TRH A-1 e

2. Answer the following : (any three) 2x3=6
oS fwarea Ser @ ¢ (R fRfab)
(a) Do you think that an instrument of

high precision gives always an accurate
result ?

Tw-Agaer “fRmioe T G512 sww
Ao wW Fefa R« 3 ot eI 2
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(b)

()

(@)

Can all toothpastes be considered as a

cosmetic product ?

TECE HACARCE, 2t Fa Boiee a1 Ffaa
ANfaw 2

Why is EDTA mostly used in
complexometric titration ?

FACAT TILT Seioize EDTA &%
I@TeIR 72T T4 T2

The working principle of Gel permeation
chromatography is based on which

sorption mechanism ?

coe NI e ow o Faee
@ chEs fEnfafir eome Sy ¢

How can Reverse Osmosis (RO)
technique be used for large-scale water

purification ?

oIS SR 2% O (@ 2= AR
A o afeFre aRRR R SR e
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3. Answer the following : (any two)
5x2=10

were fraaiea ©es frat ¢ (Resreat xbr)

(a) What are preservatives ? How are they
classified ? Give few examples of each
class. 2+1+2=5

ARTFeTE & 2 @R @fieew
N 9 W2 ACOIFE (RO TAiE=el
faart |

(b) Discuss the general principle of
chromatographic separation with
reference to migration rate and
retention time. What is Ryvalue ? Why
is it significant ?

3+1+1=5
ITET AAFIFINT FAYEG OB ©iF
ST I SR 1 B ACATE SNCATBI

T | R et 6 gant 2 q2eo1 o waogoyef?

(¢) What do you mean by ‘complexometric
titration’ ? What are masking agents ?
Explain its role in complexometric
titration with suitable examples.

2+1+2=5
“Gioel SpEei’ 3feTea & go 2 TR arers -
TR T 2 Twaez wibe Semie afEFe
2R Sfi i 4 |
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(d) What is meant by tests of significance ?
What are those tests ? Briefly discuss
each test. 141+43=5

Al % e [ 3@ ¢ O AHERE
& & 2 ArSB! R FALE A T4 |

4. Answer the following questions : (any three)

10x3=30
e fiml empiza ved il ¢ (R fefon)
(a) Write short notes on : 2Y%x4=10

5y (orel fora
(i) Standard deviation

RICRSIS

(i) Chelating agent
frafoe arers

(i) Food processing

A7y AN

(iv) Arsiron Nilogon

wifgsw e
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(b)

()

(1)

(@)

@

What is DVB ? What is its role in
ion-exchange resin ? What is the
basic difference between cation-
exchange resins and anion-
exchange resins ? 1+1+3=5

DVB & ¢ wizw-Rfvwmw @feme 29
g & 7 @oRm-RE W% GRe-
fafawy @feme Siers drevw & 2

Discuss some important
applications of ion-exchange

resins. 5
- @ @somn aagf
AR R SCEv=t 34 |

What are the major ingredients of
cosmetic products ? Discuss the
role of each ingredient in the
cosmetic formulations. Give
examples. 2+3=5

A AN % ToFarnE & &2
eIl AL AFCFINS LTSI
THTIIT GG SCEADA T | (IR
Tarzae |
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(i) What are deodorants and
antiperspirants ? How are they
different ? Why are antiperspirants
considered as quasi-drugs but not
as cosmetics ? 2+1+2=35

oo a5 W GFooARPItES e
& ol ¢ Fder W eren & 2
PGPS R ‘@RIE gl
fEHICoTE 910 T 2, eFiieA A
feoree 7=, v ¢

(d) What is water pollution or water
contamination ? Discuss various
sources of water contamination.

2+8=10
ST el 6 2 AT engEeR [few T
[z REw Sicena 41|

(e) () What is sampling ? What are
different sampling methods used
in water analysis ? 1+4=5

TR e 6 3@ 2 o Resae
TS & & T e ee 3
0
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(i) What do you mean by dissolved
oxygen (DO) ? Discuss the
principle of determination of
dissolved oxygen in water.

1+4=5
wdtgs wiHem e & 3@ e Aae
ware e wREER s AT w11 om&fes
& Aol STEsa] P41 |

() (i) What are significant figures ? How
many significant figures are there
in 1-012 x10-4 ? Do the following
calculations and round off the
answers to appropriate number of
significant figures : 1+1+3=5

(A) 35678 mg + 2.17mg +5.0mg +2.91mg

(B) 0.156 cm?3 x 9.238 gem™3
e wHE@E & 2 1:012x10-4©
(20! AT T WL ? TerS MR

A P T O FAFEAEE GAYS
AF GFea ATE GF 1 3

(A) 35678 mg + 2.17mg +5.0mg +2.91mg
(B) 0.156cm3 x 9.238 gem=3
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(ii) Define mean and median. For

titrating 25mL of a given
copper (II) solution, the volumes
of the standard hypo solution used
were 20.2, 19.5, 19.9, 20.7 and
20.0 mL. Calculate the mean and
median of the consumed volumes.

2+3=5

T SR LT F& 7141 | 25mL F94]
(I)-3 ¥ 461 o FECS 2T
@R AT YTA-T @B ARTE T
20.2, 19.5, 19.9, 20.7 W& 20.0
mL. SHI#A0S 9T (FR WSS
NG W SR W [efsr 40
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OPTION-B

Paper : CHE-SE-3034

(Chemical Technology and Society)
Full Marks : 50
Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer any four questions from the
following : 1x4=4

wors faal e Rzt sifesrq el ¢

(a) Give two examples of natural polymer.

751 Aipfes I Trre |

(b) Which light is responsible for ozone
layer depletion ?

(olZe] (FNCHT I Te FE T A 2
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() Which element is mostly used for
vulcanization of rubber ?

'3 SIFRIBEEAS (FWCH! Gle AILEEITS
TR € A2

(d) What is meant by relative humidity ?

wirsifEs Sidet I & @ e

(e) What is genetic engineering ?

s fgmie & ¢

() What are the gases responsible for acid
rain ?

wifss 9L A T o 7 oo

2. Answer any three questions from the
following in brief : 2x3=6

weTe fra erTEa Riree fofabra via Ted a8

(a) What is the difference between chemical
engineering and chemical technology ?

s HERnie o @hies Gaata
ere #1452
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(b) Discuss briefly the effect of acid rain {p) What are the steps may be taken to

on the environment. prevent the water pollution ? Discuss
briefly.

257 eolqe wIfse WY dor I

WA 4 | b ST 2EeE o[ e AR & & e @

_ 24, GYLF ALl T4 |
(c) What is alternative energy ? What are

different alternative energy sources ? {c) Discuss briefly different compositions

{ soil.
e ofe & ¢ Res ¥ S & & » .
wifte Rfen sion e 53 D w4
(d) What is meant by thermoplastic and
thermosetting plastic ? (d) What is clean energy ? Discuss different
f clean energy briefly.
f2fEs i asfrefbe 2R e s ge ¢ R
. " fil wfe & ¢ Rfon aere e fes R
(e) What is solar energy ? How does it BIALE G 341 |
work ?
oTF & & 2 ] wite e 9 2 4. Answer any three questions from the
5. M following : 10x3=30
: nswer any two questions from the g
following : 5x2=10 were firl e e fefabre Tea fn ¢
i i f soil
{051V} 2PTILY e o (a) Explain the social effects o
e RO et i pollution with suitable example.
(a) Briefly discuss the greenhouse effect Discuss various sources of soil
and its causes. contaminations.
CIOER USR W% TR FITHRIT 50T (S e AER esiqs & geR (A
e 39 | Toe TuizapE A 0 | T AEeR

fafen Tena REm witeivat 34|
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(b) What is synthetic polymer ? Discuss

()

(d)

the uses of different plastics with
suitable examples. How do plastics
create problem to the environment ?
Discuss.

weefre Iz & ¢ [fes o Aifdss
S CAYS TuieIeE S F4 | 2B
ARCIE TS (e 7Tl B I ¢
SICE 34 |

Explain briefly Material Balance and
Energy Balance of a system with
chemical reaction.

OBt 2imfeq smief Py wis *ife Sy
IRE RfTaR e SiEsa 341 |

What is meant by energy crisis ?
Discuss briefly how nuclear fission and
biofuel can be used as a probable
alternative sources of energy.

& 7530 A= F 3o 2 FefFne e o
o 35 TER) *feT BT 2T O (72 5L
WG 4 |
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(e) Describe different technologies used in

chemical industry.

Tl Toaie Jeze [fen eyfes fam
3ot =4 |

Explain the term ‘manufactured drug’.
Discuss different steps used in genetic
engineering. How are proteins
synthesized ?

eefoge g fe & 3@ ¢ @
efere Rz fAfen o ST Sl |
Afbw FECE AFS AU [ 2
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OPTION-C
Paper : CHE-SE-3074
(Intellectual Property Rights)
Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in Ensligh or in Assamese.

1. Answer the following questions : 1x4=4
TS Al TR Tew 4 ¢
() Why are geographical indications
important ?
e Figfer avg BFe
(i) What is composite trademark ?
fifEre Tt oz fe

() What is the period of industrial design
and renewal period ?
o1 TUGIoIE FHR PP S AP
f=ter 3= oM
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(iv) What basic inclusion is made in
WTO Treaty that came into force from
01-01-1995 ?

01-01-1995-3 7| IFFI! @A, WTO
pfee & T Tuge 3 ¢

2. Answer the following questions: 2x3=6
were fral e Yed ¢
(i) Write the consequences of failure to
renew a patent. 2
(AT ARl T AR /e 29 R
(i) (a) How are patent and discoveries
related ? 1%

WWCWW*ﬁS ?

(b) ‘Gene sequencing is patentable’.
—_Write ‘correct’ or ‘incorrect’ for
this statement. Yo

R S (576 FRA AR | —TfGTH!
‘wm’ 1 Gog Tl

(iii) What is ‘collective trademarks’ ? 2

‘AN @U@ e
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3. Answer any two questions from (a), (b), (c)
and (d): 5x2=10
woe @l (a), (b), (c) S (d) I farea 7ot 2
T a8

(@ (@) Write four products where
industrial designs are applied. How
is industrial design different from
trademark ? (Vax4)+2=4

Tl Bz 3@ SR o, B0l AR

am fadl ) @2 Bz, GENEels [
42T ?

(ii) How is Madrid Protocol related to
WIPO ? 1

ifew wEET a1 WIPO 3 1E & ¢

(b) (i) Write, how products are protected
under geographical indication.
How can a person trade a
geographical indication tagged
product ? 2+1=3

ANTPEZ (SN Tprod TS
@EE AEF ¥ W 2 (S

fiefoge A G ae e
@ALS I AT 2
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(c)

(d)

(ii) Write the principles of Paris
Convention. 2

iR prEias Getwe |

i) Explain the statement, ‘Copyright
is property.” How is it related with
royalty ? Is copyright taxable ?

1%+1+%=3
BRI I A — RS 4 AT |
<5 TS TR T 7 IR
34 FeeE B ARG ?

(i) Write the difference between
licence and assignment of

copyright. 2

A5 TG R SRR
s & 2

What are the obligations of government
towards protection of biological
diversity ? How are plant breeders’
rights protected under Intellectual
Property Rights ? 3+2=5

e abael ATHE o paied WEaEe! &
@7 The 2 @fﬁwm@ﬁuﬁaﬂ@u%
Tfgn Fuid Sfged @A AT 22 ?
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4. Write the answers of any three questions
from the following (a), (b), (c), (d), (e) and (f)
options : 10x3=30

=TS 3l (@), (b), (o), (d), (e) SR (f) I faemzet
fofaby emiq Ter fore) 2

(@ () Why and how can registered layout
designs be assigned to others for
use ? Who can register a layout

design and what are registerable
items ? 5

R 9% @S AGET =9 AR TH
IR AW W ¥4 W ? @EER
AN AGTEN IR AR S @ AER
TH AGEW I AT ¢

(i) Write about the obligations of
patent holder. 5

(BT ITFT TSR TS forat |

(b) (i) Write four salient features of GATT
Agreement. 4

GATT bf&x oM 51357 afeisy |
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(c)

(1Y

(1)

(1)

Write in short about International
Agreements of India on

trademarks. 6
ST s (ed B9 (G Fum

oAl FRez, O’ R site B

How do TRIPS Agreement provide
definition of ‘trademark’ ? Does
trade-mark symbol expire after a
set term of time ? Write four
qualities of a good trademark. How
does it help people in business ?

1%+%+4+1=7

TRIPS pfe= wre Guaida 7wt & e
Gowids Hz M @3 R[S AT <Iwe
o3 AW @ 2 OBl ©F GuNdR 50
Tt o1l | TR T AT TR
A ?

Write in short, inception and
development of Intellectual
Property Right in world. 3

e (@ifas woifel s wed w
oM @S 24, b |
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@ @
(@)
(iii)

(e) (1)

When and where Budapest Treaty
signed and entered into force
internationally ? Write the
significant point of this Treaty.
(Yot Yat2)+1%=3

Fuie® AfE feEl, 'S wEE (%
HEHfererd 4aéa (2fee 2 @3 AT
Ty FARA forai |

Write about the responsibilities of
a copyright owner. 3

GSRF) AL SEPRR wiied [aw
fovan

In business, how trade secret is

used ? How can a person protect
trade secrets of its own ? 2+2=4

TS, IRARTE (PRI @ ¥4
2 ? G S (D€ IRARE (ool
@ WS 33 2

What are integrated circuits ? Give
example. Why and how its
protection is required ? Can it be
patented ? How long does
protection last in layout of
integrated circuit ?

1+1+3+1+2=8
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(i)

¥)

(@)

e a6a & 7 o T | e
S @ 2 E AT 2 WS
ATT TRA ARG 2 TS T6TH
S W i e A 2

Differentiate GATT from GATS.
2

GATT &% GATS-3 #1<&g |

Define industrial design. Why and
how is it under Intellectual

Property Right ? 3+3=6

Tl w B QI 2 [ S (@
2 (i Tl iR sege I
7 AR 2

Write the structure and functions
of WTO. 2+2=4

WTO-T 57 % 3 &, forain|
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